od
i’
oF
uJ

N~ © [ Ne»)
5 e EEEE JE HENEE AEEEE
- QA o) — | © < [aNIN NaN} o | © hanll S2H KeP)
no mm LIQ= har
e g A A
=
D
< (@] o [N Ne)
5 3 2|18|18|8 g 2|8 S |BI8 |BIE |88 |B|q|H
s |3 z 8|8l ¢ o S I A A N R
o ! —
w3 | & -
RIS
M~ © DO I~
2NEEEEEESERIREEEEREEEER 22 TSR E8 588 E|5 5588 55 EE
§2°38[39°22|gglglrese a2 |90 Y "SRR |33 3|°|° °|8|8 82|22
I | oo i
<
=
mms Uy mrm s W
oir
0
2]
' o 2l _
g R ® =
< no il [
Um_l _IJ.II_ 10y _x_v
= T sl | 2
Py - = = = I wl = S
ﬂ Elu_ _u..g.._ ol = o_n ar M N\_ mmo En) E._ M
ol i ok = W 0 W= =] - - M
o T 30 1 D - _ R Kk = or K RO — A0 -
Wm iy ™~ | Ok FAEE _.__“_m.olu.pm_u DTWW o W5 |5 m RO ﬁ%
Y, ) 201202 832 @0 <3 O T A = e i K oM ooy |D 2
. H g | %80 | 3oy 8 gy W o B |z 8 0 TR |R) DE0foF W igk|  Zfur ol || 80|80
= = B |ok|[H|fA B 0o L KA & S 0 RCORCIKE[KE - [<F|2D W |5 |5 < |#F |ok 0 | OF | OM
i Kl Sl (3 |0F < fo < 00 < W M| 5|3 < O 0o (& OF (oo o) |70 (@ |2 |2 OH]<1 |30 (MO
RO Ko BIdgu|=< W R [ WA IS|H R 0N SI<|< o|R[R H|l=|a|MH
N b 0 RIN-|g ©0 4 ©0 00 O0|g|lg ©00|glg Olgs|y Olz|s ©lgls Ole|z|y
X Bl i grlon |~ x eV X g|° g|° 5._%0
IF [=o o1 ﬁ_& R0
o) al _
Gy U
H

- 1107 -



od
i’
oF
uJ

1EE = 2 I2E BE [EFE B B B & @
" — |~ ol | e — — )
N 2 3 Jla |glg (¢ 21 |8 o 8
zm o < al< < < <
E <
D
1EE = g |g[g[z (g2 22 EElE jEE [ B B @
e | 1B|E]P = |8 gV~ [F1Y Iglg 3]0 |8lg |¢ 5 > B
ifd “
RIS
w o o Al
EIEIEIEEEEEE8EEEHIIREIBEIZEEIBIREIEEREEEREELEEREERES S E
PIR|IRIB ® =8 9 = rlp N g gl i digis Bis|—7 |88 8|8y gL sy
ar -
<
=
oA U ~ W o~ u ~ W
or
Mm ulo ulo
N ol ol
=d
a | U i KF i %0
= T _ = o il ) 0b
¥ |= = = = 31 =\
x |% s m ¥ Uo ~ 5 ~Z iy
. = = = U- Io|_<.. d
Z | 5 0 o ok Rl ok | & o
= |= Rl B0 ok o) __AI__ o o/ oNs <
® = RO g = U o 00 S| ol F R
oF |0 ol m = = [ ol = =4 & o =) | b [
ST = - e - wlsls T Mlsls | sl |z £ 52 5
L Rl v = - el o IR I R I s 2|t ol 50 S 30
= (2T || @ wowE o &g B e T O o - TR g N F=gi o el T (R v 01 S 0H
S T T A o Digfor bl |5 8 rlm |2 5|5 ®r|lw T |k 3 o- 30
._._Ano olo e = KJ _v ?_o
|| |< 8RB E) f U Wign|=z < |3 0|8|< R|S|S|Ar |5 |< K|z Bl = N o
N B0 mmmﬁ ey laY] %mo mo ar m < <
I+ 3 & A0 il R
N

- 1108 -



SN EABAADE
A Lolo] ALSA(EH/2AH2AR)
ool 288 s € g7 (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OBL3 A2AIE 2 & RAE= 35,000
Jl 14,000
== 21,000
202 048l 5,600 3,000 2,600
Il 2,240
= 3,360
01 2LHAH| 5,600 3,000 2,600
OXENZAHE SR 5,600
Il 2,240
= 3,360
207 ARl 584,000 625,000 241,000
Jl 233,600
< 350,400
03 Al -2HI 584,000 625,000 241,000
OXAISF & JIXHN +& 550,000
) 220,000
== 330,000
OdgdHl RFSUAH f =cl 34,000
7l 13,600
= 20,400
NSENAHEHHE AHEH S NE(=1) 162,500 225,000 262,500
Il 65,000
< 97,500
405 KHaHF =4I 162,500 225,000 262,500
) 65,000
& 97,500
01 ML ESFISHI 162,500 225,000 262,500
O A=ED| 87,000
Il 34,800
= 52,200
OpH & dEE =EFD| 5,500
Il 2,200
s 3,300
(ONE=Si=s S SEP) 16,500
) 6,600
& 9,900
O weHI|(Thermomixer) 9,000
7l 3,600
= 5,400
Oz&zI 27,500
Il 11,000
< 16,500
oflzsdd 17,000
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< 12,875
202 048l 1,120 1,000 120
= 560
= 560
01 2LHAHI 1,120 1,000 120
OdEHIe s g2=d 1,120
= 560
= 560
207 ARl 24,630 24,750 A120
= 12,315
== 12,315
03 Al -2HI 24,630 24,750 A120
OAlSf £ JINM 78 S 17,250
= 8,625
& 8,625
Od=Heiltl HIs=E 7 7,380
= 3,690
= 3,690
SHSEIIZEE 2L 2HE(2D) 49,600 60,000 210,400
Jl 24,800
< 24,800
207 ARl 49,600 60,000 10,400
) 24,800
& 24,800
03 Al 2HI 49,600 60,000 10,400
OAlF & JIXH e S 49,600
Jl 24,800
= 24,800
NZ2 AsZAIHA =62 A (=1) 120,000 50,000 70,000
= 60,000
s 60,000
202 04l 6,000 4,000 2,000
= 3,000
& 3,000
01 =LHOHI 6,000 4,000 2,000
OANEMF S 2= 6,000
= 3,000
S 3,000
207 AR 114,000 46,000 68,000
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= 57,000
< 57,000
2dE SHFAH=EE SN2 2 42,990 42,990
202 04| 6,720 6,720
01 2L A 6,720 6,720
OSHEBANZEH JE=A 6,720
207 AR 36,270 36,270
03 Al 28I 36,270 36,270
OAIF & DX & 36,270
SHIAL & HA 99,700 141,000 241,300
Jl 2,200
< 97,500
28 AN L HEEA 57,400 63,000 15,600
201 Ler23y| 1,000 1,000 0
01 AtR2t2|HI 1,000 1,000 0
OH3& & &gl HIHl S 1,000
202 04| 2,400 2,000 400
01 ZLHAHI 2,400 2,000 400
OZ Y A AR 2,400
207 ARl 54,000 60,000 26,000
03 A& 328 54,000 60,000 26,000
OFbl=el, Al & JINM & S 54,000
ST ASNGHS AN HEE A 37,900 38,000 2100
201 Ler23| 10,000 8,000 2,000
01 AtR22te|Hl 10,000 8,000 2,000
os=2= NH 3,000
OR&EN 24 =& 7,000
202 04| 3,600 3,000 600
01 =LHO LI 3,600 3,000 600
OZANY 2= 3,600
207 AHe| 24,300 27,000 A2,700
03 Alg 32t 24,300 27,000 A2,700
OFblI=xel, AlSt & JINM & S 24,300
HEEET X ZA(=12) 4,400 0 4,400
Il 2,200
= 2,200
207 ARl 4,400 0 4,400
Il 2,200
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< 2,200
03 Al 2HI 4,400 0 4,400
O&Hl==cl, AHAIS L I 78 S 4,400
Il 2,200
= 2,200
ZEENE & At AF 241,670 297,226 55,556
Jl 69,355
=S 172,315
Sd 288 AH Y ASI XA 47,100 96,600 249,500
201 er23 | 2,000 2,200 A200
01 At2teltl 2,000 2,200 A200
OuMKM =, ZAMZE, ARES 7Y 2,000
202 048l 2,800 2,400 400
01 2L A LI 2,800 2,400 400
Ogs AL & HH=+H S 2,800
207 AR 42,300 47,000 A4,700
03 AlZg =2t 42,300 47,000 24,700
OdHl==cl, JEAIS L I 7 S 42,300
S0l - AIZOHH 298Y ALY 2E(2D) 27,300 27,300 0
Jl 13,650
== 13,650
207 ARl 27,300 27,300 0
Jl 13,650
< 13,650
03 Al 2HI 27,300 27,300 0
O&Hlz=cl, ATHAS L JIAHM 7 S 27,300
Il 13,650
= 13,650
ololx & dY AEA JeH(F1) 36,000 37,300 21,300
Jl 18,000
=S 18,000
202 04l 400 400 0
Il 200
S 200
01 =LHO LI 400 400 0
Oge=4a 04l 400
) 200
& 200
207 ARl 35,600 36,900 1,300
7l 17,800
= 17,800
03 Al 28I 35,600 36,900 A1,300
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S - BB - BRI(EH) - AIRAY - BES of v e HIDE2
OdHl==cl, A=A & I 2 S 35,600
Jl 17,800
== 17,800
CZ2H0IA TS =01 A4 Z2AY 2(=21) 30,000 30,000 0
Il 9,000
= 21,000
207 ARl 30,000 30,000 0
Jl 9,000
= 21,000
03 Al 28I 30,000 30,000 0
Odtl==cl, d=AISF & I 7Y S 30,000
Jl 9,000
=S 21,000
28 QI HEZ0t ZHIZAHZ1) 57,410 60,926 A3,516
) 28,705
S 28,706
207 ARl 57,410 60,926 A3,516
Jl 28,705
= 28,705
03 Al =4I 57,410 60,926 23,516
OZHl==cl, JEAIS L I 7 S 57,410
7l 28,705
= 28,705
2 W AN 8D AEHERA 43,860 45,100 1,240
201 er23| 18,000 17,100 900
01 At2teltl 18,000 17,100 900
ORI SINE 24 ==& 8,000
OMST =4 =& 10,000
202 04| 3,360 3,000 360
01 =LHOLI 3,360 3,000 360
OANZE MF S €24 3,360
207 ARl 22,500 25,000 22,500
03 A& 328 22,500 25,000 2,500
OdHl==cl, dAIS & I 2 S 22,500
AES e ZAE 167,520 522,020 354,500
= 7,960
< 169,560
RSAMS S Al A 66,600 121,500 £54,900
201 et= 3| 4,200 5,000 A800
01 AtR2tc|HI 4,200 5,000 A800
OAlZotd2e| A= MA & =385 S 1,500
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3 Lolo] ALSA(EH/2AH2R)
ol OIS otNe A EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 9,000
207 ARl 9,000 9,000 0
[ 9,000
03 A& 32t 9,000 9,000 0
OAI%t & DX & 9,000
= 9,000
CZ2HI0l2 A ZAIMA AFY MEHI(=1) 16,440 15,405 1,035
= 6,576
= 9,864
207 ARl 16,440 15,405 1,035
= 6,576
< 9,864
03 Al -2HI 16,440 15,405 1,035
OAlISF & JIXHH & 15,000
= 6,000
= 9,000
Odgdtl RFEUA # =cl 1,440
= 576
= 864
HNERSEHHA RAXNBHSEAMS SA 16,100 23,000 26,900
207 ARl 16,100 23,000 26,900
03 Alg 3 -2HI 16,100 23,000 26,900
OAlF & JIXtHH & 16,100
SIAZS otdd FA 242,700 460,280 A217,580
= 30,000
= 212,700
S|fE otMd HA 63,700 230,280 166,580
202 04| 7,000 6,000 1,000
01 =LHOLI 7,000 6,000 1,000
GRFA & oNZE S ™Y A 7,000
207 ARl 56,700 63,000 26,300
03 Al 328 56,700 63,000 26,300
OAlISF & JIXHH 2] 43,200
o4&l RS uHM % =il 13,500
SHTH =L 7 ZuE 119,000 170,000 /51,000
201 et 3| 119,000 170,000 /51,000
01 AtR2telHl 119,000 170,000 /51,000
OE4 &l dud & FANE=+ S 119,000
RS oS tA2AL(F1) 60,000 60,000 0
= 30,000
=S 30,000
207 ARl 60,000 60,000 0
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24 ERsED
MM oo AYEA(B2/P20IR)
oelr Soiet AS 2 +E o B2 (S &)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OJI2tNIZ2Z2 X+ 24| 18,99%
os=d & 20Ul 2,590
202 04| 2,800 2,800
01 2L A LI 2,800 2,800
OaM =1 S AL g FX 2,800
207 AR 20,000 20,000
03 Al 28I 20,000 20,000
OAlZEM S Mg 7¢ 12,000
OHEMEH, AlSF & JINM S 78 5,000
OANEZAEH 225 728 2 =2l 3,000
Sofler Z28dE HEME 2 58,600 290,970 N232,370
288 Mg & g4 58,600 90,970 A32,370
201 fer= 3| 1,000 1,000 0
01 AtR2t2|Hl 1,000 1,000 0
OANRES 7Y S 1,000
202 04| 3,600 3,000 600
01 SLHoIH 3,600 3,000 600
OoZ&Yg Mt & HAFYUS A 3,600
207 ARl 54,000 60,000 26,000
03 Al -2HI 54,000 60,000 26,000
OAISF & JINM F12, dHIscl S 54,000
Negd B (2g/a832528) 1,152,630 1,664,060 Ab511,430
= 99,000
=S 1,063,630
&Y Shes = BH 237,100 319,000 A81,900
= 99,000
< 138,100
ot & Sa= = el 39,100 40,000 2900
201 fer23| 1,000 1,000 0
01 At22t2|bl 1,000 1,000 0
OMEEE 7Y S 1,000
202 04| 12,000 10,000 2,000
01 =LHOHI 12,000 10,000 2,000
Octd, 224 = 22| g2F2 12,000
207 ARl 26,100 29,000 A2,900
03 A& 328 26,100 29,000 22,900
OAI%F & DX e 17,100
OZHIFSUH & =2 9,000
SZEZ0F ASBAL SHE HEgd JIgRSAE (B4 198,000 200,000 22,000
)=21)
= 99,000
= 99,000
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m3: 7o = (82 st
&©el: ol & sS4 = BN (EEREE))
SA - B GR(31) - HIRAY - BES ol by e HlmS2
201 L2 | 32,000 22,000 10,000
= 16,000
= 16,000
01 Ar2eltl 32,000 22,000 10,000
O=HM=ET AIE 14,000
= 7,000
= 7,000
(OFSPNYSI=IE) 3,000
= 1,500
& 1,500
O=2 A, &3&I}t, MRES P S 15,000
= 7,500
= 7,500
202 (4t 11,000 8,000 3,000
= 5,500
& 5,500
01 =WOdbI 11,000 8,000 3,000
OZ=Z0F SHDIEHE JRFA 11,000
= 5,500
& 5,500
207 A IHLH| 155,000 170,000 215,000
= 77,500
= 77,500
03 Al& & 2H] 155,000 170,000 A 15,000
OAlIF & IRt 2 115,000
= 57,500
& 57,500
OAEZHl el & |X 40,000
= 20,000
& 20,000
H=Eg2 otEA 2l 157,270 363,800 A206,530
=2 oMY A 2 D= X 157,270 363,800 A206,530
201 L2 | 500 500 0
01 Ar2eltl 500 500 0
OANRES 78 S 500
202 04dl 7,200 6,000 1,200
01 =LHO4 b 7,200 6,000 1,200
OYE=E= oty ZAH HRFX 7,200
207 AR 69,570 77,300 ANT7,730
03 Al& 2| 69,570 77,300 A7,730
OAISF & DX e 9,000
OaEZH 25ud ¥ =cl 22,770
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2N BASHHIHA
BH: NHay BE(HY/ARLSUL)
ol HeEsE oHEd 2l EER=E)
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
O&AEE A7 37,800
405 AHatE = 80,000 280,000 200,000
01 ML ESH SHI 80,000 280,000 /200,000
OJIM2Z0tEeHII (GC/ECD/HAASE ) 80,000
MEfEE e 55,570 113,540 57,970
SE0IU= BA 26,820 56,370 A29,550
202 044l 1,800 1,800 0
01 =LHO LI 1,800 1,800 0
OZ0IM= AMESAL HRFA 1,800
207 HFoHe| 25,020 27,800 A2,780
03 AlZ =4I 25,020 27,800 A2,780
OAI2F & DX € 25,020
e =S4 & e AZE ZA 13,900 40,670 N26,770
201 L= 500 500 0
01 AFR2t2ltl 500 500 0
OANRES 78 S 500
202 044l 5,000 5,000
01 =LHO LI 5,000 5,000
e A2 ZAF R 5,000
207 HoHe| 8,400 8,400
03 AlZ =4I 8,400 8,400
OAI%F & DX e 8,400
=2 SX dAdeha 24 14,850 16,500 A1,650
207 AN 14,850 16,500 A1,650
03 AlZ =4I 14,850 16,500 A1,650
OAlF ¥ JITHH 14,850
E2 2 HOI= 22 29,900 32,000 A2,100
£ X HII=Z 28T A 29,900 32,000 A2,100
202 04l 5,600 5,000 600
01 =LHOA LI 5,600 5,000 600
OHJIZ2 & E2 AIZTHF 5,600
207 AN 24,300 27,000 A2,700
03 AlZ =4I 24,300 27,000 A2,700
OAI%F & DX e 20,700
O=d&Hl RS uM « el 3,600
H= & ot 2T 2| 221,040 44,200 176,840
H= % ol QBT HA} 221,040 44,200 176,840
202 044l 5,040 4,200 840
01 =LHO LI 5,040 4,200 840
Ol % ot 2T A JRFA 5,040
207 AR 36,000 40,000 A4,000
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2 gAY
BH: NHay BE(HY/AYDE5AL)
=l H= & ot 2T 2e (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
03 Alg 32t 36,000 40,000 /4,000
OAlI%t & DX e 18,000
OaEgdH RS uM ¥ el 18,000
405 AtatE = 180,000 180,000
01 TR ESFISHI 180,000 180,000
ox=Zs24| 180,000
CHOIE &EOt 22 370,150 566,520 A196,370
Hla3=gdY=2g 63,700 51,720 11,980
201 =3 35,350 24,220 11,130
01 AtR2t2lt] 2,500 2,500 0
OUIIZEIIE AN &2t & AIRES 78
S 2,500
02 S3=gl 32,850 21,720 11,130
OUJI2E0ISEEAAY FRE+ 15,510
OJIeS3EE SHANMAAYE RAE+x 10,320
OUIIQSZEM S, 2otae| & Sl 7,020
202 04l 14,400 12,000 2,400
01 2LHoIH 14,400 12,000 2,400
olyeZ3E=dY 28 YRFXN 14,400
207 ARl 13,950 15,500 21,550
03 Al 2HI 13,950 15,500 A1,550
O=dZHl ==cl, Al & I 7 13,950
SAUDIEEA 2 K& 280,800 280,800
308 AtXIEHMSOIE 280,800 280,800
01 AXEH B EES 280,800 280,800
OZAIUIIEEA 2E X2 280,800
A - DA s X 3,000 5,000 22,000
201 er23| 3,000 5,000 22,000
01 At2teltl 3,000 5,000 /2,000
Ostl=gs & AN 2EXNE S 3,000
AUBIIE & 45 A 22,650 51,500 A\28,850
202 04dl 13,200 11,000 2,200
01 =LHOHI 13,200 11,000 2,200
OAU=IIE £ 245 AL S gFFA 13,200
207 ARl 9,450 10,500 1,050
03 Al =4I 9,450 10,500 21,050
O=FHEHl =2l, Al & JIXH 7 9,450
o1& L&t 35,100 174,000 A138,900
OOItHE & 2SS A 35,100 174,000 138,900
202 04l 18,000 15,000 3,000
01 2LHoIH 18,000 15,000 3,000
oILEL A s FREFN 18,000
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FA BARFAREA
3 XNed 2E(28y/8z2sah)
=Sl HOI2d 235t (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
207 ARl 17,100 19,000 21,900
03 A& 32t 17,100 19,000 21,900
O=FEHl ==2l, Al & I 17,100
2P 2t 46,500 51,000 24,500
Olelol g5 =2+ &8 otdd Et 32,800 36,000 2,200
201 er=2 3| 1,000 1,000 0
01 AtR2t2|HI 1,000 1,000 0
OANFES S 78 1,000
202 04| 4,800 4,000 800
01 =LHOLI 4,800 4,000 800
ooelolgss2 etFotdaeI|IE HR2F
& 4,800
207 ARl 27,000 30,000 23,000
03 A& -2HI 27,000 30,000 A3,000
O=FHEHl ==2l, A2t & JIXH F 27,000
HEFH oK ZA 13,700 16,000 22,300
202 04| 6,000 5,000 1,000
01 2K 6,000 5,000 1,000
OdESHFHAT ZAL R 6,000
207 AR 7,700 11,000 23,300
03 Al 328 7,700 11,000 23,300
O=FHZHl ==2l, Al & JIXH + 7,700
HH2IZH(EHSZATR) (JIEHIIE 9,865,398 9,298,180 567,248
= 28,170
= 1,476
Jl 66,923
= 9,768,829
elg =3 9,541,073 8,980,741 560,332
= 28,170
[ 1,476
J| 66,923
== 9,444,504
S2E 212 XI& 8,415,806 7,907,564 508,302
101 @124H| 8,415,806 7,907,564 508,302
01 &2 8,384,942 7,907,564 477,378
o=d 7,381,423
O == 5,342,203
-ASH 1,951,200
=1 9%, 381
= 97,257
o= 80,586
et 1,676,976
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